A
HOOKE ROAD MAKE A DIFFERENCE

e —

Tubular Doors venronoon |

ATTE“TI““ . Please verify all parts are present and read instructions carefully before starting installation.
Please feel free to contact your distributor if you have any kind of question about your purchase.

<> CONTENTS

Front Doors Rear Doors

Driver Side

Passenger Side

aty| PartName  |Sizemm)|  Picture  |Qty| PartName | Sizemm)|  Picture |
4 | Button Bolt M8x45 GE 12 | Flat Washer M8x20x1

16 | Button Bolt M8x20 _ 16 | Flange Lock Nut M8

4 | Button Bolt M8x20 nlm-'- 4 | Nylon Lock Nut M8

16 | Split Lock Washer D8 G 4 | Nylon Round Spacer |27x13.5x14
8 | Split Lock Washer D8 I::} 4 | Nylon Round Spacer | 27x13.5x8
16 | Flat Washer M8x20x1.5 o

Tg view online instruction, please
scan the QR code.

< TOOLS REQUIRED

¢® Drive Ratchet Handle ¢© 5mm Hex Bit Socket

¢® 13mm Wrench



https://manuals.plus/m/28cbfe655505db2499c40799858c63cf0ec8c171db79bddf0cda24ac953c2e09

<> INSTALLATION INSTRUCTION

Lower the door window completely and fold side mirrors fully forward until securely locked to ensure safe
removal.

Fully open the door, find the wire connector, and pull it straight out while keeping the connector cover open.
< 5

[ Sten3 )

Remove the upper and lower hinge bolts. Lift the door straight up to detach it from the vehicle. Repeat this step
for the other doors.

[ stend

Distinguish the installation position of the hinge according to the figure below.

Front Door Rear Door Front Door Rear Door

Driver I ' Passenger ' '




(Driver Side Front Door] Secure the door hinges to the door. Do not fully tighten to allow adjustability. Repeat

this step for the other doors.
o(4) M8x20 Buttom Bolts
o(4) D8 Split Lock Washers

o(4) M8x20x1.5 Flat Washers(Black)
o(4) M8 Flange Hex Lock Nuts

Secure the tubular door to the the vehicle by aligning and putting into the hinges. Close the door and adjust the

door to the desired location. Tighten all bolts.
eLower Position

eUpper Position
(1) 27*13.5*14 nylon round spacer (1) 27%13.5*8 nylon round spacer
(1) M8x45 Buttom Bolts (2) M8x20x1 Flat Washers (1) M8x20 Buttom Bolts (1) M8x20x1 Flat Washers

(1) D8 Split Lock Washers (1) M8 Nylon Lock Nuts (1) D8 Split Lock Washers




If you hear abnormal noises from the door lock while driving, loosen the M6 screws and adjust the latch position.

Repeat all steps on the other doors of the vehicle.

The installation is complete. We hope you enjoy a wonderful off-road life with this quality Hooke Road
product!

Go gle Hooke Road to find your parts. Feel Free To Share Your Vehicle @HookeRoad4x4 | E 'F @ d.

With The Hashtag #hookeroad If You'd Like




